0000 A(0D0D0O0)0000O020 02000 (2016.10.5)

00 1.30000000000000 f,00000A000000000
000000000000000000000000000 (@:2(5) =
2(4L)0000000(@00: A= (4,4,A4,)0000000000
00 f, Az, Ay, A, 0000 z,9,20 (000)000000)

(1) rot(gradf) =0 (0D0000O0D0O0000O0V x(Vf)=0).
(2) div(rotA) =0 (000000000000 V-(VxA)=0).
- Y —
002 00000A4A=| = DDDD/QLWDDDDDDDDD
0 C

000000 A001000000(G)000000000000000
000000000000000000000000000000000
0000 CO00000000 Cy, Gy, C;0000000000000
000000000000000000000000

()00 Ci: 2=00000 (1,0000 (0,1)000000101/400.
(000:00000000)

(2) 00 Cy: 2=00000 (1,0)00 (0,1)000000.(000:00
00o0o0o0on)

(3) 00 C3: 2=00000 (1,0000 (0,000000000 (0,0)00
(0,1)00000000.(000:00000000000000000)

(000O0O00o0o0O0)
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